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2.1

Inpulse Response

SN

Time
Stretched Pulse TSP



2.2 TSP
2.2.1 ATSP
ATSP ATSP
H(n) = a, exp(jkn?) 0<n<N/2-1
H(n)=H"(N-n) N/2+1<n<N 1
H(N/2) =a,
n H(n) TSP * H(n)
n=N/2 n=N/2+1 n=N/2-1
H(n) N-n n=0 n=N n=1
n=N-1.. n=2 k TSP
TSP
H(n) IDFT TSPX(t)
ATSP ATSP
n ao
H(n) H1 IDFT
H™(n) = a, exp(- jkn?) 0<n<N/2-1 )
H'(n)=H (N-n) N/2+1<n<N
HY(N/2) =3,
N =4096 k=8.991x10" ATSP(a) (by  2-2-1
a 0 500 1000 1500 2000 2500 3000 3500 4000 4500 b 0 500 1000 1500 2000 2500 3000 3500 4000 4500
2-2-1 (2 ATSP



2.2.2 OATSP
2-2-1 TSP
f
fs/2
1)
(= )
fs/
H(N/2)
m
k(N/2?=mz
3) k
k=mz/(N/2)?

4 @
H(n) = a, exp(j4mmn’ / N?)
H(n)=H" (N-n)

Optimized ATSP(OATSP)

OATSP TSP
OATSP =N/2
N/2
OATSP
OATSP H-1(n)

H™(n) = a, exp( j4mm? / N?)
H™(n)=1/a,* H (N —n)

ATSP

0<n<N/2
N/2+1<n<N

IDFT

H(n)

0<n<N/2
N/2+1<n<N

H(N/2)

fs/2

H-1(n)

IDFT



2-2-2 OATSP N=4096 m=1200
2-2-1

0.04 T T T T T T T T 0.04

003 1 0.03r

002+

0021

001+

0

-0011

-001f

002} -002f

003} 4 -003f

-0.04

L L L L L L L L o L L L L L L
0 500 1000 1500 2000 2500 3000 3500 4000 4500 008 1500 2000 2500 3000 3500 4000 4500

2-2-2 (5 (6) OATSP

2-2-2  MATLAB

%Programl

%OATSP

N=4096; %TSP

m=1200; %TSP

A=1; %

L=N/2-m; % 33
n1=(0:1:N/2); %

x1=A*exp(4.*m.*pi.*nL*n1.*./(N*N));  %OATSP

H=zeros(1,N); % n

H(1:N/2+1)=x1;

H(N/2+2:N)=conj(fliplr(H(2:N/2))); %H(N/2+2) H(N/2+1)
%
%

Y=real(ifft(H)); %H(n) IFFT

%

(N-L+L:N)=Y(2:L);

YY(L:N-L)=Y(L+1:N); %TSP

figure(1);



plot(YY);

% TSP
G=conj(H);
YG=real(ifft(G));

o
YYG(L:L)=YG(N-L+LN);
YYG(L+L:N)=YG(L:N-L);

figure(2);
plot(YYG);

TSP

%H(n)
%G IFFT

%
%TSP

% TSP
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TSP
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TSP

TSP
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2.3.2 TSP
N TSP
N TSP
N
TSP N TSP
TSP
5) (6
N
2-3-1 2 (3 ATSP
8 TSP
N TSP
N
TSP
ATSP OATSP
2-3-2 (5)  (6) OATSP
ATSP OATSP
OATSP 0
N
T 2-3-1
(1]
. ) ATSP
e
iz
il el e sl

-23

-Ed

-1




2-3-2
(5)  (6) OATSP

TSP OATSP

TSP

2-3-1

%Program2
%ATSP
N=4096; %TSP
A=1; %
k=8.991*10"(-4); %TSP
L=N/2-m; %
n1=(0:1:N/2-1), %
x1=A*exp(k-*nl.*nl1.%)); %ATSP
X3=A;
H=zeros(1,N); %1 n
H(1:N/2)=x1,

H(N/2+1)=x3;
H(N/2+2:N)=conj(fliplr(H(2:N/2)));  %H(n)

Y=real(ifft(H)); %H(n) IFFT
%

YY(N-L+1:N)=Y(1:L);

YY(L:IN-L)=Y(L+1:N); %TSP
figure(2);

plot(YY); %TSP

12

OATSP



% TSP
G=conj(H);
YG=real(ifft(G));

%
YYG(1:L)=YG(N-L+1:N);
YYG(L+1:N)=YG(1:N-L);

figure(2);
plot(YYG);

%
F=conv(YY,YYG);
figure(3);

plot(F);

2-3-2

%Program3
%OATSP

N=4096;
m=1200;

A=1;
L=N/2-m;

n1=(0:1:N/2),

x1=A*exp(4.*m.*pi.*nl.*nl.*j./(N*N));

H=zeros(1,N);
H(1:N/2+1)=x1,

H(N/2+2:N)=conij(fliplr(H(2:N/2)));

Y=real(ifft(H));

%
YY(N-L+1:N)=Y(LL);
YY(LN-L)=Y(L+L:N);

figure(2);
plot(YY):

%H(n)
WG IFFT

%
%TSP

% TSP

%TSP TSP

%

%TSP
%TSP

%
%

%

%OATSP

1 n
%H(N/2+2)
%

%

%H(n) IFFT

%TSP

%TSP

H(N/2+1)

13



% TSP
G=conj(H);
YG=real(ifft(G));

b
YYG(LL)=YG(N-L+LN);
YYG(L+L:N)=YG(L:N-L);

figure(2);
plot(YYG);

%
F=conv(YY,YYG);
figure(3);

plot(F);

%H(n)
%G IFFT

%
¥TSP

% TSP

WTSP TSP

%

14



2.3.3

0.04

0.03r

0021

001r

-0011

-0.02

-0.03f

-0.04

0.04

TSP

0

L
500

L L L L L L L
1000 1500 2000 2500 3000 3500 4000

TSP

100

4500

10 TSP

2-3-4

2-3-3

003+

002

L
500

L L L L L L L
1000 1500 2000 2500 3000 3500 4000

4500

2-3-3

2-3-3
TSP

231

1 10 100

TSP L
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1 a1 100
2-3-4

TSP 2-3-5

2-3-5
TSP
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2-3

2-3-6

-6 N=4096 m
E= (50) 30 /eN-D

5() TSP
r]ot:N/Z_rn

4096 N

20}

—40}

[dB]

-180-

-200
0

2-3-6

L L L L L L L
500 1000 1500 2000 2500 3000 3500 4000

%Program4

%m

N=4096; %TSP
A=1, %
n1=(0:1:N/2); %

for m=512:128:2048 %

x1=A*exp(4.*m.*pi.*nl.*nl.*}./(N*N));

H=zeros(1,N);

2-3-6

512

16

5 (i)

N=4096
512 576 640 704 768

896 960 1024 1152 1280 1408 1536
1664 1792 1920 2048

128

%TSP
% Program2
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H(LN/2+1)=XL;
H(N/2+2:N)=conij(fliplr(H(2:N/2)));

Y=real(ifft(H));

G=conj(H);

YG=real(ifft(G));

E=zeros(1,4096); %1 4096

kk=1; % kk

for L=1:128:4096 % 1 128
YY(N-L+LN)=Y(1:L); % (Program2 )

YY(1:N-L)=Y(L+1:N);

YYG(LL)=YG(N-L+LN);
YYG(L+L:N)=YG(L:N-L);

F=conv(YY,YYG); %TSP TSP
F(4097)=0;
E(kk)=(F*F')/(2*N-1); %
kk=kk+1,
end
kk=kk-1; %kk
%
Xx=[1:kK];
Xx=(xx-1)*128; %
E(1:kK);
E1=10*log10(E(1:kk)); % B
plot(xx, E1(1:kK)); %
hold on;

end

hold off;



234 m

2-3-7  N=4096 8) OATSP
TSP
TSP TSP
) N/2 fs/2
TSP TSP
N=4096 -98[dB]
m 1840
g ] 2-3-7
-40- 1 N (8)
] / — N=512 1024 2048 4096
1: 8192 16384
L P
2-3-7
%Program5
%TSP
pp=zeros(20,1); %
%pp
for P=9:1:14 %N P
N=2/P; %N P
A=1; %
n1=(0:1:N/2), %
for t=4:1:16 %m

m=t*N/32; %t N/32
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x1=A*exp(4.*m*pi.*n1*n1.*./(N*N));  %TSP

H=zeros(1,N);

H(1:N/2+1)=x1,

% Program2

H(N/2+2:N)=conj(fliplr(H(2:N/2)));

Y=real(ifft(H));

G=conj(H);
YG=real(ifft(G));

E=zeros(1,N);
L=N/2-m;

YY(N-L+1:N)=Y(1.L);
YY(1:N-L)=Y(L+1:N);

YYG(LL)=YG(N-L+1:N);
YYG(L+L:N)=YG(LN-L);

F=conv(YY,YYG);

F(N+1)=0;
E=(F*F')/(2*N-1);

E1=10*log10(E);
pp(t)=E1;

end
plot([4:16],pp(4:16),'x-");
hold on;

end

hold off;

% m

% Program2

TSP TSP

%

%dB
% PP



3.1

3.1.1

(3)

20



3.1.2

21



22

3.2

3-2-1

3-2-1

3-2-2

L4
=
I
.
by

3-2-2

3-2-1

3-2-3



3-2-3

3-2-4

2ofd=§'w Zald =10/

dB



24

3.3
3.3.1
! ]
'1'—5 - E »
_’ﬁ:-""' ¢ -
|
%
L]
3-3-1
3-3-1 0]
[rad/s]
0
V [m/s]
F [N]
F V

F . .

—=7 =R + X, [N s/m]

\Y;

R Y,
X, Y, 90°
Z oIN sim] F
Z., Z. 3-3-2



Zool MMMREN {2

ann Vi :-.-—------.-----.|

3-3-3

r
] | »
i-ﬁu-'-:';ﬁ"@ 19 1&=k
i IR A =
Ll i
| |
3-3-2
P, 332
F. 2
.12
P= = I ——
=R V| Riz 7z ™
X, A
3-3-3
X, f
z, X, 0
+Z, = jom
F- 2
P=R|—
" =R fom (w]
1.0 i
1.0 e
T .1 . /
=3 ?//
- va'Zs
”“E LR /.I" :
T .00l —
iy / |
#.01 0.1 1 16 2
— g 28 2ew

R <<om

25



R, f?=0?/4r’ F
P, R
2
Z.+2Z, =-j(l/eC,) P, o
3-3-4

= I

|

4=

!
!
fl'

—= WS (MR
fo o iR S

3-3-4

26



27

3.3.2

3-3-5

Bk

x
L

{Zwu)

ﬂm:

By
#
g
=

a.? X

W?

.._ﬂ..._..

3-3-5

Hz

F'l



28

3-3-6

3-3-6

n.-.lulnm
L& ]
I
;i
ﬂ W 12
BTN =
|i.|.|.lr../.“

[aP] V1330 —

—= e/ (H® R [Ha]

3-3-7

3-3-5

3-3-7



29

3.4

34.1

(fo)

fo

3
)
8
&
X
8
8
&
1
3
5

F___._...__..___._r___.c......r e ot L LU T R

3-4-1
3-4-2

3-4-1

fo



3.4.2

3-4-3

b
7 %
ki
g
-

s
z
g
|
g
=
#
g
-
=
o
g
o
A
4
o
&
g
#
-
z
-

I,

AL =T

3-4-3

30



4.1

TSP

4-1-1

48[kHz] N=24576 A=10 m N/4

TSP

TSP

08

06

04

02

02

-04f

-06

-08

%Program6
%TSP

Fs=48000;
N=24576
A=10;
m=N/4,
L=N/2-m;

n=0:N-1;

4-1-1 TSP

%TSP
%
%TSP
%

%

25

31
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H=zeros(1,N); 1 N
%TSP (Programl )
H1=A*exp(j.*4.*m.*pi.*n.*n./N./N);
H2=A;

H(1:N/2)=H1(1:N/2),
H(N/2+1)=H2,
H(N/2+2:N)=conj(fliplr(H1(2:N/2)));

h1=real(ifft(H)); %H IFFT

h2(1:N-L)=h1(L+1:N); %

h2(N-L+1:N)=h1(1:L);

%TSP 0

h5=zeros(1,1000+N); %l  1000+N

h5(1001:N+1000)=h2(1:N); % 1001
%TSP

figure(1);

plot(h5(1:N+1000));

wavwrite(h5,' " %

wavplay(h5,Fs,'async"); % TSP

h4=wavrecord(N+9000, Fs); %

figure(2);

plot(h4);

wavwrite(h4,’ )} %

%Program?

%

Fs=48000; %

N=24576; %TSP

%

hil=wavread(’ ; %

h2=wavread(' ; %

h3=zeros(1,N);
h3=h1(1:N);
h4=flipud(h3); % ( TSP )



%
cl=conv(h2,h4);

%
c2=abs(fft(cl));
%c2=c2/max(c2);

%
Nfft=length(cl);
NN=(Nfft+1)/2;

f1=(Fs/2)/(NN-1)
XX=0:f1:(Fs/2);
plot(XX,20*log10(c2(1:NN)));
xlabel(* [Hz]");

%Program8
%

Fs=8000;(48000)
N=4096;(24576)

%
hl=wavread(' ;

% 1

Wcl FFT

%X
%
%X

%TSP

%

% a0.wav,a30.wav,a60.wav

for ii=0:30:180

t=(ii/30)+1;
hh(;,t)=wavread(['

end

% 2
hh(;,1)=wavread(['
hh(;,2)=wavread(['
hh(:,3)=wavread(['

h3=zeros(1,N);
h3=h1(1001:N+1000);
h4=flipud(h3);

%ii 30

¥a',num2str(ii),'.wav']);
% num2str(ii)

), %hh
D;
i)}

% TSP

33



Ji7[1.2,3];

col=[',b' g m'yy' e K CT

for

end

hold off

kk=1:length(jj)
tt=jj(kk);

cl=conv(hh(;tt),h4);

c2=abs(fft(cl));

% Program7
Nfft=length(cl);
NN=(Nfft+1)/2;

f1=(Fs/2)/(NN-1);
XX=0:f1:(Fs/2);

%
%

%length(jj)

% TSP

el  fft

plot(XX,20*log10(c2(1:NN)),col(tt)); %

xlabel(' [Hz]");
ylabel(' [dB]";
Legend('
hold on

%X
%Y
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BOSE 101MM 4-1-1
412 4-1-3

4-1-1 BOSE 101MM
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70~17k[Hz]

6[Q]

45[W](rms IEC268-5) 150[W](peak)
86[dB] SPL 1[W] 1[m]

130° 130°
2P

232(W)x 245(H)x 152(D)[cm]

2.1[Kkg]

A —H2 =} P A LT =

4-1-2 BOSE 101MM 4-1-3
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TSP
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5-2-10 5-2-11 0° -90°
+90°

-90°  +90°
0°
-90°  +90°
BOSE 101MM 130°
130° -65°  65°
-90° 90°

5-2-12  -30° 0° +30°

5-2-12

5-2-12 30° 1[kHz]

1[kHz]
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N
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%Program9
%
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Fs=48000; %

N=24576; %TSP

hl=wavread(’ "), %

hhl=wavread(" % %

hh2=wavread(" ; %

h3=h1(1001:N+1000);

h4=flipud(h3); %

cl=conv(hhl,h4); %

c2=conv(hh2,h4);

%2

t=140; %
c22=zeros(1,t+(2*N-1));

C22(t+1:(2*N-1)+t)=c2(L:(2*N-1)); % 0
€22=c22*0.8; %
cl1=zeros(1,t+(2*N-1));

c11(1:(2*N-1))=c1(1:(2*N-1)); % 0
c3=cl11+c22, %2

c4=abs(fft(c3)); % fft

% (Program7 )

Nfft=length(c3);
NNN=(Nfft+1)/2;

f1=(Fs/2)/(NNN-1);
XXX=0:f1:(Fs/2);

semilogx(XXX,20*log10(c4(1:NNN))); %dB ( )
xlabel(* [Hz]";
ylabel(" [dB]");

axis([50 24000 0 80]);
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